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t.S Uqpurhphhplr oqururqnpbrlurh \unl qgpbnthhntplurlr

--r-. -...'t"l l('"-l'l=n
7r452 770,0 770,0 X

u3l ShnrubruL urntpphP

100,0 100,0 X
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ur) Zullurlhpfr ururpurbpnr-ti hnp 2hhphpfr' 2frhntplntbbhpft
(hhptunlurl n2 hftfhur\urh) 2frtrurpurpnrplnth (tnhrpurlprlurh)

o-,r'r.rlnrorrrrlr htrrt[tttn (rnnn l'l 33+rnnn 
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334'l

100,0 100,0 X
I 133 urur) lhil'hur\ruh 2trhntfalnttrhhfrtr hunluF

0,0 X
I 134 ul n I I l nuuulu tllu 7l rurrLlqlrrluuulrl r rrlgu sI'

p) 2ulluilhpfr tlurp2ur\urh tnu'rpurbpnr-rl 2hhphpfr, 2frhntplnthhhplr'

pu-rrpupur2fllu\ruh ru11 oplh\rnLhpfr {hpru\unntgtiruh'
nrdhqurgriurh, t{bpu\urhqhriurh, rup4fnl\urhrugrftuh

ur2luurururhphhp (purgurnntplunfp 12 ophhurlptldlurilF

u*tr.t*ttri-t' 2frhurpurpntplurh pnqltmlntplnth 2qurhurh2tlnq

n'hr r r nLn h ) L ul rnurnht nt rantt t tnil ntplurh hunitup

0,0 X
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0,0 X
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q) ZurilurlLpfr rlu-rp2ur\urh tnurpurbpntd 2hhphpft' 2flunLrdlnluucFF'

ptu{tupui2tlhur\urtr ur11 oplh\tnhhpfr purh4rlurtr pntlltn{ntpluh

hulJun

360,0 360,0 X
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urptnur4purhpfr rlurdrunpfr, iru\ huhprulfrh ubb4fr oplt\urhhpnr-ti'
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q) 2ullurlhplr ururpurbpntil hhrlnt\ qurnh$PF' utrququo Puuquru

\uril hhqnltlurg{urb tnurlpurlfrh quqhFfr riurhpurbur}u urnhtnp}r

qU*Uprr..t hhrlnt\ r{urnhfrpfr h (\uli) uhrlirlurb pl-nu\urh \ruil

ihqnlqurgqub Lunlpu'r1fi. tr qurqhFh h tnhluhfr\ur\uh hhqnlUhhptr
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E) Zrurlurpurrlurpurl bL \url-rnbhhpfrh hunlurqurururufu utr bphurh
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p) lurtfru3hpfr uurpurbpmrl urptnrupfrh qnqurq4 tntrlur4phlnt

Bnttl tnilnrraturh hurilurn
0,0 0,0 X
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d) Zuriur:hph urnluttqhg rfrururnrupqphpfr qunndhhhp lt

hnhhonhhurhhbn urnurilurnntr m hunlurn
100,0 r00,0 X

1 144

dur) Zurtlulhplr ururpurbpmrl (purgurnntp1uilF purqurlfrh

huliurlhphhpfr) rlurp4uruurF rnupunr- (purgurnntplurdp

hppnulurlfrh tnurpufrhhpfr) burnurlntplnth frpru\urhurghhlnt

0,0 X

I 145
dp) faurL\urpdhp dhururfrhpfrg qunnpuuurlurb hnhnh
tlurLrnrubrutu runnr-ilurdurnph Bnut ur]ntBtu.rtr hunlurn

0,0 X

t146 dq) Ud rnnh urr uburtnhn h hurtltun 0.0 X

|47
dq) 2uniurthpfr tnurpurbpnul qrnhtlnq fuurhntphhpmri'

\pqurlllihpnuf urhluhfr\ur\urh hhrlnt\hhpfr rludurnpft
o-, , r, .,l -, or, t t It htrrr frrr n

0,0 X

I 148
dh) Zurtlulhpfr ururpurbpmil hurhpurlfrh ub\fr \urqilur\hpqtftuh h
hnurorlurh nnrrrtnilntrarurh huLlurn

0,0 X
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dq) Zurluruuruhfr Zurhpurulhuntplurh hunlurlhphpft

ruhtltubnuihhpp $frptftulfrh urh{rul-rnulhhpnr-tf oqururqnpbhlnt

^-,,,, ^,1-, ^,,,,t, L,,,, f,,,-

0,0 X

I 150 dt) rurr urhnurLurh rnntnphn 0,0 X

r r50
1.4 Uqpurtrptrhplr tfururur\urprupnuffrg h burnurlntplnr-hhtpft
rfrrrrnnr nnrrfhn rlrrl lrrrrrnrnrrrnhn rlXrrrnfuLn

7t46 0,0 0,0 X

l15l Zuldu-rt hBh p1 ntgh rl durnrl n4 q huur\ urh urmpphp 0,0 0,0 X
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ur) €ruqurptugfru\urh \u,rgntplurh ur\tnhp qrurhghlnt, ryIurLg
rluufrh purrlurpurgfrhhpfrh \p$ll\|r {\ru3ut\uhLhp,
pruqrlpurgfrur\ruh \urgnr-plurh ru\urhpntrl \urururprlurb
qpurnnttihhpnui rJrn{rn}untplnthhtp, prugnuftrhp, nt4rlmrlhhp

\urururphlnr- h {hpru\urhqhilurh \urqur\gntplunfp {\ur1tu\urLhhp

0,0 X
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p) Lntnurpru\urh qpruuhtrlur\hhpfr \"1rihg hnururpur\urtr

bunurlntplnthhhp \uruurptlnt, hntnurpu\urLr \*nq".l
r{unlhpurgr{urb r}ruutnurprphpfr \p\hopfrhur\htp rnrulnr-' h2rlub

rlurptlfrhLrhph \"q.Ittg qnpEurpphhpfr tru{uurqbhp h 4fnintilhhp

\urqrfhlnt, $uruuuprlphpfr qutndhhhp hurhhlnt h rlpurhg[g

0,0 0,0 X

I 160 1.5 Urr hurnhruthh htrurlntrnhhn 7t6r 0,0 0,0 X

I t6l Ophhpnrl qhuur\urh plnt2h urilpurqprlnrl hurp\hpfrg h ur11

',',rrnr nrrrnhn r'lXrrrnIrhnhn rfrrrrrhurhnrtftrhn hrur,fturhphlnh-pErghlrhL
0,0 0,0 X
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lmpurpurhyntp ururprlur qhtnur\urh plnt2hfr ilurufrh ophhpn{
0,0
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et + h"+qft Lr qntlpruhurp\fr qbntl hurilurlhpfr plnr-2h {dupnulhhpft
phurqurtlurnnul pr.ugruhurlur{urb hurp\ru1}rLr ophhu4pntplurh

]uruluurnuihhpfr hurtiurp hurp\urtnnttrhpfrg qurh&rlnq rnnt3dhp h

nnrqurhphhp, npnhP thh hur2rlrup\{nttl ur14 hurp\hpfr qnttfurpt-rhp}r

0,0 X
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2. I Qbpugfr\ rupururpfrh qur2urnhur\urtr rlpurrlur2trnphhhp'
rrrnrrrnrlrrrh rrrrr rrrLrnnr nrnr hhhnhn

73tl 0,0 0,0 X
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Zuilultrpfr p1nt2h ilnrurpurqrrlnrl rupnurpfrh qur2nnhu\urh
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0,0 X
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2.2 9urqfrururl urprnurplrh ulur2urnhur\urh 4purtiur2hnphhhp'
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t22l Zurilurlhpfr p1nt2h rfnlrnpurqp{nq uptnurpfrh qur2tnnbur\urh
nnurtfurrhnnhtrhn' utnurorlurb urrr ru hurntrarmhhhnh tnhnurLurh

0,0 X
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2.3 ftprrrgh\ urpururpfrh qur2rnnhru\urh 4purtfur2hnnhlthft'
urnurqilurb rlhquroqurhtr turorlurL tnruntnrnthhhnho

7321 0,0 0,0 X

t23r Zuilurjhpfr p1nt2h rinr-urpurqprlnrl urpururpfrtr ulu2tnnLur\urh
nnunJurohnnhLhn' urnurorlurh rfhouroorurhb

0,0 X
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2.4 9urulfnnurl urpururplrh ulur2urnbur\urh 4prurfru2trnphlthp'
utnurqil urb rlhqurqqurrhh L urqilurt hnul ntrarntbhhnhq

7322 0,0 X 0,0
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Zurilurlhpfr p1nt2h rfmurpurqp{nr1 urpurupfrtr qur2tnnhur\urh
nnunfu obnnhbbn' urnurodurb ilhouroaurrhh
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pp) alhtnru\ruh plnt2hfg hullurlLpfr rlurplur\urh plnt2hfrlt

nnurilurnndnn run nnrnruqhurhhn
0,0 0,0 X
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q)'tlhtnru\urtr plnr-2hfrg huliurltrpf tlurpyru\urh plnt2bfrh

tnnurdurnnrlnn huurururtrurhtr htuuLurqnr-rfhhn (unlnrl hhqhutrhn)
0,0 0,0 X
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q) U1 t huiilurltiptrhpfr p1 nr2hhhpfrg nhpurgb\ burluuhpft

$hhuihuullnnlftuh hruurtnurLnr] utnurorlnn tuurrrnnlluLurh
0,0 X
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2.6 gruqfrururl hhpplrtr qru2urnhur\urh 4punfur2hnphtrhg'
uururqdurb burnurrlurntlurtr rutt rftuturnnurtbhphg

7332 0,0 X 0,0
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ur)'Tlhuur\tuh plnt2hfrg \ulqfrururl burfuuhpfr $$rurhuurrlnpilurlt
lrrrrrrrr nrrrlrrrrrhlr hrrrr nlrrrrnnr r flrLn ttrrnr ntlLlrnhrrrlrhn)

0,0 X 0,0
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p) u11 hurtlulhphhpfrg \ul:1fnnur1 burfuuhpJr Sfrhruhuur{npilurtr
hqtutnur\ml uururgtlnq qru2rnnllu\ruh rlliurilur2trnphhhp

0,0 X

.i300 3. U3L bquunhsLbf 7&0 8715,8 8715,8 3626,0
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trurh\hpnut hurilurlhpfr p1nt2h[ durtftullu\ur{np urqurur dfr2ngbhptr

tnhrlu,rpu2|unrtiirg tr 4hqnqlnnhhpfrg utnurgtlurb urn\nuurrlduiptrhp
0,0 X

1320 3.2 Gurhurnurdhtrhhn 7412 0.0 0.0 X
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trurdhhtnfrpur\urb ph\hpnr-p1ntLrLrhpnuf hunlurlhpfr
t,,,,,t,,,,1 l, nhr firrn hrrrr frrrrlrnh nrnt oh r fnt r nntttnnrlnn

0,0 X

1330 3-3 llmrnh r]urnd.urL urr nr-ralnt.hho htrurllunhhn 7415 4615.8 461\.8 X

IJJI 2unJurthoh uhrhurburbntotnrh hulftunrlnn hnnhnh rlurn&iurldurnhhn 4579.8 4579.8 X
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Zurtftu1l-rpfr tlurp2ur\urh tnu,rpurbpntd quLqnq qhtnur\urtr

uhrlrurlrurhntBtnth hurtftuprlnrt hnqbph {urp&urldurptrhp
0,0 X
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Zurtlurlhpfr {urp2ru\urh uturpurbpntrl qurtnlnrl ulhtnntplurh h

hurtfurlLpfr uhrJnu\rutrnt1d1uhE qrun\urtrn4 hnqunluruhpfr

l-:urnntourruurtnrlurh hnunlnthph nhilulq qurh&tlnn t]urp&ur{durdrhn

0,0 X
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7421 3000,0 3000,0 X
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4ururuJ upF u hr+u qurunl[dJnlh hurh4fruurgnq, u]jl ptlnr_il.
tnfrpur qnr-p\, hurtftul hpfrh npq hu uhrfnu\urhnrpl nrh urhgrub
u qpurhphhp[ (pr,u gurnnr_pj urilp hfrilhur\urtr tl]r2ng, n2 bj ntptu\uli
Qurd pupdptupdhp ur\urfrt{ hurh4fruugnrl, }rL:ulhu hurh hurdu:3hp}r
ulurhnrurnhhpnul quh{nr1 tuqpurhprutrlntpur\urh urpdhphhpi)
{udunpfrg rintrnphp

0,0 X
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''I hmnlldl tutr Qnqdhg rnhrlur\urh frhphur\runurt{tupdurh
durptlfrtrhhpfrh qrurnrif pur\r{urb frurqnpnrpjnttrhhpfr
f ptu lruhu gilurh burluuhpfr $f buhuru r{npUurt t uUurp q huru \urh
plnr2hfrg utnrug{nq tif 2nghhp

0,0 X
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up E upnq uurhtiurht{urb 4hqphpnrtl huriurl hpurj f tr h}nitlup\hhp}r
\"tl,ihg unuhg nhqru\urh untpplr qurh&riurh rfutnmg{nr1
bunur.;nr-p1 nLhirhpf l1uril \uruurpr{nq qnpbnrlntplnrbhhpf lhilurguuugrlnrl (qrul-r&{nr1) ur11 t{druphhp

3000,0 3000,0 X
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JtrntuUuttt tldunhhn
Zturlurjbpfrr'l*
fhhphpfr, lhhntBtnr-trhhnh onhbrrrlrrrlrrrrnrfirrl, hr,,,f,,,-,tr,,,-r,L

0,0 X

0,0 X
l360 13.6 Untrnphp urnr-tdhnhq, u, 7431 0,0 0,0 X

l36l

.{tup2tu\urh 
frpur{u}uurfuurnuibhpfr hurtiurp *hq*lt-lr-

frtrphur \unu-n{rupriruh tiruprifrtrhhpfr h"n,ihg
utuuturuluurhurr.nrlUtBturh r.fhonohhnh lrhnrrrnnr r fhn l=1,,,,, fn, r ht,l--

0.0 X
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u n Lm p hF h tu r-l tu1 trpf p1 nr2hlr h\ruurdrutip uururtrd.trurb
qurltitul-rtuqpurlfrh qurpr.nur{npntplnr_trhhpfr 2llulnurpilrutr 4}rtfurg
ntrllllllnn nlnrl rnn, "lF-1,^

0,0 X

1370 s. z Clrpu gf \ n2 qur2rnnhur\urtr 4punlur2hnphhhp 7441 0,0 0,0 x

137 l

.DFqp qul qu] u ul ud.urug lr [urqdullhpqmpl nrhhhpf
trtlfpruphpnrplnrtrfrg huliurlhpfrh, t[hp2frhfru hhpur\ur pjnr2huurjfrh
hf dliurp\hhpfr urhopfrhrlurhh urhgurb qntlpfr (hf^Ihurl+uh ilir2ng \u^I
n2 hl nrpu \ruh ur llurfrtl 2htub4fruur gn4) f purgnttlfrg h rlpuliurQurh

0,0 X

1372

oFqF qtu qtu u tu l-rd.urug Lr Quqdur! tpqnrpl nrtrhhpf
h{f puptpnr-pl nrhfr g hruilurl hpfrh, {hp2f Lfru hhpurllur pl nr2hrnurl}rtr
hirtlhtupllhhpf nhopf hrlutrh urhgurb qnll ph ft |rdtrur lluh rlfr2ng quril
n2 Llnrpur\urtr ru\tnfr{ 2hurh4fuurgnq) frpurgnuf}rg h 4punfur\urh

0,0 X

1380 3. 8 9 ur ulhur ur L n) ul ur2rnnhurliluh 4puliur2trnphhhp 7442 0,0 X 0,0
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Ltlfrprun{nr-pj urh, dtunrutrqnrplutr frprutlnrhpn{ Sfrqf \ur\urtr
utr&urh glr g h \urqilu\ hpqnrplmhhhpf g hurtiurj hpfrtr, t[hp2frhfru
hi-rpu \ru pl nr2 hurul |rh hlnf trup\hhpfr urLopfrhtiurhh urLrgurb qnlJph
(hfnihrulluh il|r2ng \unf ny Llnr_pur\urh ur\nfr{ 2huhrlfruurgnrl)
frpurgnrdfrg h rlpruilurllurh rlh2ngLhphg lurulf ururl 6urfu uhpfr
$f lirutruur{npdurh hudurp hurdurl hpfr p1 nr2h uuru grlurE rlmrnphp.
tnpudur4p{ub tuptnrupfh ruqplrr ptrhpfg

0,0 X 0,0
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I 382

Lrfrprurn{nr-p1urh, dtunurtrqntpprh frprutlnrhpml $frq}r\ur\urh
urh&urhgfrg h \ruqriur\hpqnr-plntLhhpfrg hrurfurltrpfrL, {hp2frhfru
hhpurtlu plnr2hrnurlfrh hfrdtrurp\hhpf urhopfrhtlutrh urtrgurb qnlJph
(hfilLui\uh .lhl"g \uni n2 blnrpu\urh ur\rnfrrl ;hurh4fruurgq)
frpurgnrilfrg h 4puliu\urh ilfr2ngLhpbg \urqflnur1 bur]uuhpfr

fpur\urhu,rgrfurh hunlurp hullurlhpfr p3m2h utnurgrlurb ilntuphp'
tnpullur4ptlurb hhppfrh urqplmptrhpfrg

0,0 X

1390 1.9 Utt htunlmurhhn 7451 1100,0 1100,0 3626,0

l?ol Zuilurltrplr qnLJphL qururdurnurb r[rruuhhpfr r]rnfuhurtnmgmilfrg
dnr-urohn

0,0 X

t392
{urp2ur\uh plm2hfr rqurhnr-uurulhL $"bt}hg $n\ur1frh p1nt2h

Qurumrprlnq hurtn\urgntilhhpfrg ilmurphp
3626,0 X 3626.0

l 393
Ophhpm{ tr frpur{ur\uh ur11 ur\rnhpml uurhilruhrlurb' huniur3trpfr
ptntgh ilnttnpurqntlurh hhraurLur urrr tburtfnrurtrhn

1100,0 1100,0


